The Word Association Study
Study Phase Instructions

This experiment concerns word completion. In the first part, you will be asked to complete a word that is part of a word puzzle. There are two kinds of puzzles: rhyming puzzles and association puzzles. Your job is to figure out the second of two words, presented one pair at a time. Half of them will say “Rhyme,” and ask you to complete a rhyming pair, and the other half will say “Association,” and ask you to complete an association pair. Here’s how it works…

You will see one complete word and one word with the last two letters missing (they’re replaced by underlines). If the word “Rhyme” appears above the two words, the second word sounds like the first. 

Rhyme

boot : ro _ _
As soon as you figure out what the second word is, press the space bar and read both words. In this case, as soon as you realized that the second word was “root,” you would press the space bar and say “boot root” out loud.  It will stay on the screen for a few seconds, and then another pair will appear. We will be recording what you say so that we can go back and make sure we know what words you generate. 

If the instruction says “associate,” then you would think of a word that is somehow related to the first word. For example,

Associate

tree : ro _ _
In this case, as soon as you figured out that the second word was “root,” you would press the space bar and then say “tree root” out loud. It will stay on the screen for a few seconds, and then another pair will appear until all 96 pairs have been shown.

Please try as hard as you can to think of the incomplete word, but don’t worry if the word pair disappears before you figure out what the second word is. This happens to everyone. Very few people complete all of the words without missing any. Just move on to the next word pair if you miss one.

This part of the experiment takes about 15 minutes. Please feel free to ask the experimenter any questions before you begin. 
